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@vering the questions:

. Verify the Page Nos. and Test Booklet Series
crepancy, if any. This booklet contains 90 questions
oubt/discrepancy in Bengali language papers you may

Candidates should read the following instructions carefully be

1. This booklet consists of 24 pages including this fro;

in 2 languages: English and Bengali. In case 1§
refer to the English versions. @

2. Answers will have to be given on the.
which is in carbonless duplicate. Do

3. Before you proceed to mark on/theNAnswer-Sheet in response to various items in the Question Bookleét, you
have to fill in some particu the Answer-Sheet as per instructions sent to you along with the Admit
Card. Do not fold the Answer-Sheet as this will result in error in your marks.

ecial' Answer-Sheet (OMR Answer Sheet), supplied for the purpose,
ear or seperate the duplicate sheet.

4. All questions have four probable answers (A), (B), (C) and (D). Find out which of the four answers appear
to you to be correct or the best. Now darken the circle corresponding to the letter of the selected answer
in the OMR Answer-Sheet with Black Ball Point Pen as per instructions sent along with the Admit Card.

5. If more than one circle is encoded for a particular answer, it will be treated as a wrong answer.
6. Yth of the alloted marks (i.e. 0.25) will be deducted for each wrong answer.
7. There are blank pages at the end of this booklet for Rough Work.

8. The Special Answer-Sheet with its duplicate intact should be handed over to the Invigilator before leaving
the Examination Hall. You are permitted to take away the Question Booklet after completion of the
examination.

[Please Turn Over



C-11

RB/EC/2013

[BENGALI VERSION]

1. @3f5 siitm FFERE Ty el Rad 2|
T 30 ot TCowR 2013 ©ifded A 7= ©f =7,
o iafb e o 2w

(A) 25 0oTa

(B) 157tewd

(C) 29 7tewd

(D) 3= AW 97
2. ANBA T (A x° 97 W T YIA?
2 4
4 5
3 6
18 54

M o |B |w

(A) 18
(B) 16
(©) 27
(D) 14

3. 93 RS (@iv IIT @ DARJEELIN
@4l 2@ FCTLGGNKPI @33

GOVERNMENT 131 4 QO

(A) IQXGPTOGPV N
R

é‘b

(B) IQXGTPGOPV
(C) IQXGTPOGPV
(D) IQXGPTOGPV
4. G 93 I8 F €7 (U@ 39 5@ S 97 (U@ @0 5l
otz | E 93 F® G 99 (43 @ 3% F 93 Q@
% DIl OR | (& G A7 ?
(A) S
B) G
(C) F
(D) E

5. B3I @G @2
(A) 909/1000
(B) 909
(C) 909/100
(D) 9090/1000

Q

D

L

G.wwﬁwﬁmqﬁmmﬁﬁﬁw
?

FEE1: 2, T I A ATE A
IFF2: =N, A TS e 7547 S
HfEPR R |

(A) e 3% e
(B) (&1
(©) &2
(D) Ton e w1

7. Fva e wiffee Bd (U wa YR THE
foalb 1w

O
N E
A) 1
(®) 4

©) 3
(D) 2

—|x|x]|o
1 @ @ @

1 1 1 1 1
8. st 3t0+30-3 GE R

A) 3
®B) 3
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(D) 0

9. Np3 Wl 3l WS T AEIE SR | ART
R
1,4,9, 16, 25, 36, 49, ...

(A) 55
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(D) 98
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10. He had to repent what he had done.
Fill in the blank with the most appropriate
preposition given below.

(A) at
(B) of
(C) over
(D) for

11. Sheis so that she easily catches cold.

use the correct word from the following to fill in
the blank.

(A) sensible
(B) sincere

(C) sensitive
(D) sober

12. Pick out the word opposite in meaning to the
given word— “Accepted”

(A) Rejected
(B) Considered C
(C) Noted (éQ

(D) Followed \{\
13. Choose the word nearest in m ﬁ the given

word— “Inedible” é

(A) Polluted
(B) Unfit for human consumption
(C) Vitiated
(D) Eatable

14. Choose the exact meaning of the idiom/phrase
in the sentence—

The prices are going up by leaps and bounds.
(A) Irregularly
(B) Gradually
(C) Rapidly

C-12

D

(D) Systematically

N

15. He chose the path of religion of his own accord.
Choose the exact meaning of the underlined
words in the above sentence from the following.

(A) Forcibly

(B) Helplessly
(C) Half-heartedly
(D) Willingly

16. Out of the given alternatives, choose the one
which can be substituted for the given sentence
One who hates mankind.

(A) Philanthropist
(B) Misanthrope
(C) Cannibz

(D '@fist

}@jcar suddenly:.
Fill in the blank with an appropriate choice from

the following.

(A) broke off
(B) broke down
(C) broke out
(D) broke up

18. o2 Ry T A 2R s M aEe
AC, FH, KM, PR,

(A) UW
(B) VW
(©) UX
D) TV

19. Why did you not spoken to me earlier?
Correct the sentence by using the following one.

(A) did not spoke

(B) did you not spoke
(C) did you not speak
(D) were you not spoken
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20. Since we are living in Bombay, we are unwilling 26. 53 4o O (AT AP Tew Ao e ¢
to move to another city. - =
Replace the underlined words in the above Ml hiail
sentence by the appropriate words given below: a. SIS AfATFIHA 1. 65 323 3T T®
(A) Since we have been living Rvsife
(B) Being that we are living b. TR ARRIBA oS 2. 62 323 7397 %
(C) Since we were living C. SIS FHEART WE 3. 6% 4l 65 327 79
(D) None of the above GTCH (EIEE HFG—a3 W0y &% I
=
21. HIV &[5 @D 171 4id TS Al 2 d. Fregeiie 4,537
(A) W WT%M?I A Codes:
(B) FAl4=e CNBIoNT JIZT FAE @ ) (© @
(C) Amy St FF = (A) 1 ) 3 4
22. 1. % 99% CO, 47 Idw ot © Z\Q 1 3 4
2. U§ IT O NOASAC &) JRI I | (D)\(§’ 2 4 1
3. T@ (AT (SR ITTF T IR (S I
i S D/ e Aoy 2 . Py Baerw 3k STy ~ARS R &
(A) @3 1 e
(B nR LV (&) crcfstm
(C) 19322 {:) (B) I-iz-wrHizw fsfaw
D) 1,243 ‘,5{)' (C) T
D) s s
23, “IrEVE ARTEA 9 A4 ST \i\<\ ®l
(A) *IRC Al T O . % 28. He was advised to abstain all alcoholic
(B) ITIA THEe (Z}‘ drinks.
(C) oW 2fiera TaEw é Fill in the blank with most appropriate
D) R . (pAr;:l:ii(:lsmon from the following.
24, SIATSA MG 2 MBI @I (0 FIGT T 2 (B) at
(A) o @38 e, TA (©) from
(B) (SRR 3% (1R BeoiEe (D) by
(C) 1 @3¢ Bie TeAW . '
(D) B! 432 TR Bt 29, g:;)e:s:ns will be answered by a of
25. Aem FEHE (e (e wiEdR Fill in the blank in the above sentence by an
(A) G iR appropriate word given below.
(B) AT Wik () aall
(B) panel
(©) Wﬁﬁ CIREaEd (C) bunch
(D) FreifRe wfgs (D) ‘band
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38. 10% =fere A ¢3fb 4% B = f&fer #1 B @ %
C @ 10% wits R 3 | @ Wi C 2ol Ree
ciR I T A Rfer 370 o3 o e #fS 70
(A) 10%

(B) 20%
(€) 5%
(D) 1%

39. S5a @I ChfEs iR T e
(A) 43
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40. 225 15 & R Heia s
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(D) THET o 77
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©
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49. g3 (T @ITOT SIC 24 T 60 B I
3 (FAIF T @ G2 TG 3% IO o | 7w
G @RI siferaet
(A) 25 Fhi/951
(B) 15 /9%t
(©) 20 /2%

(D) 10 ff/=%

50. B 10 5 3302 wieeis e 30 9o Ruaret 40%
e 3aw | T Tratn oo it e
A) 145
(B) 24
(C) 301
(D) 1015

51. e R T A o4 20 T2 3 99 T | G
AT A IO I & oA fawel =2
(A) 832X
(B) 103=@

(©) 123=F
(D) 143

52. 6 AT THAS 3:4 @R AL, 4| F2 4R

AL,

(A) 12
(B) 16

9

(C) 48 A\S)
D) 24 D

53. No one can bear an unprovokoqg\ﬁl\l;ult. The

appropriate interrogative f\ the above

N

sentence
(A) Everyone can bear @vo ed insult,
(B) Can you bear an mﬁv ed insult?
(C) Who can bear an u oked insult?
(D) Would you bear an unprovoked insult?

54. He runs as fast as a deer.
The comparative degree of fast is used correctly
in the sentence
(A) He runs faster than a deer.
(B) A deer cannot run faster than he can.
(C) A deer can run faster than he can.
(D) None of the above.

55. The sun rose. The fog dispersed.
Which of the following sentences is correct, if
the above sentences are joined in the form of a
simple sentence?
(A) When the sun rose, the fog dispersed.
(B) The sun having risen the fog dispersed.
(C) The fog dispersed when the sun rose.

C-16

S

(D) As the sun rose, the fog dispersed.

&

56. The boy said to his mother, “Where are you
going?”
Select the correct form of the sentence if changed
into indirect narration.
(A) The boy said to his mother that where she
was going.
(B) The boy asked to his mother where are you
going.
(C) The boy asked his mother where she was
going.
(D) The boy asked where she was going.

57. A boy was by a motor-car.
use the appropriate words in the blank.
(A) run into
(B) run over
(C) run at

(D) no; . the above.

L 4

58 %3 work at once.
Q_ correct form of the sentence in passive voice
is—

(A) You are directed to do the work at once.
(B) Let the work be done at once.

(C) The work should be done at once.

(D) At once the work be done by you.

59, @3 & P (AT Q #1{® B 17 ¥R Q (AF P (©
i 3@ B o1 AIORTS @6 W @ 16
9% | g swastel ft oife anewt Wit S o
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(D) 10 GTETS
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(C) Retrers Fifvw Fwpa
(D) Rum=fama Wibe s

62. ST *ie 928 Fa
(A) ©rRTe g4 [ErRfS
(B) ©RTeR AFARS
(C) TFIGA 2u Roeife
(D) Raerer wus

63. 31 TS S YI-RA T 10% T, Y w2
B8 N | & TS E-RAT TS T
(A) 3:2
(B) 5:2
(€) 2:1
(D) 4:3

64. ©OII® G FeTFF T (T 2N TS ?
(A) RfER 2o
(B) Za& efrét
(C) % e
(D) gt 2ttt

Q(bg
N
65. (c:;mm%ﬁmmﬁmww;z}\\%
(B) 7T Frm a}

(C) CoAGE oy
(D) o m

66. (T IFA 20% 32 % “NeT IH6T IIWT 20%
T AW | QA I G
(A) 937
(B) 4% 3%
(C) 4% =t
(D) 8% @

67. (I OISR TREN AUV TOIEH T I 2
(A) g O
(B) o e
(C) ==fS &
(D) @%. &, @7 aw

X

RB/EC/2013

68. 88 @I fRetey biw wrwEw 37ew M 2o
(A) 9944
(B) 9678
(C) 9988
(D) 8888
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(A) —450
(B) -500
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73.

74.
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75. @ [uwet 3670 @y [{fF w9 4% @12
ffer v =S = | o o1 wiox Al

(A) 10%
1

®) 115 %

(©) 12% %

(D) ToER @IbE W

76. FHeTs w3 SgsifEs Wit e 3 ¢

5

Q}Q}
77. The word opposite in meaning to ‘Kind’ is
(A) Honest
(B) Famous
(C) Similar
(D) Cruel

{Q)
&
(A) 35
(B) 37

(C) 45
(D) 46

78. I RYITT FAEE 4, 5, 6 9121 19 T4 IUTFN
2,38 4 Si9paT A | 7o 7=

(A) 214
(B) 476
(C) 954
(D) 1908
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79. Which of the following sentences is correct?
(A) There is a university in Kolkata
(B) He is a university student
(C) A university will be established at Asansol
(D) None of the above
me,

80. My brother is younger e
Which of the following words will be appropriate
to the above sentence?
(A) than
(B) by
(C) with
(D) to

81. T%r 72 B et 110 o wedi= @B G 132
fiiorg 7 SfSET FITS T (1
(A) 9873
%@mm
12.42 (%

14.3 13

82. I, who your superior, should be respected.
Fill in the blank with the appropriate words
given below:

(A) am
(B) is

(C) are
(D) was

83. I Rew I TR Sete 7:51 77 @
AT Gt et 2400 28 O Afereg st
IFG?

(A) 500
(B) 200
(C) 1000
(D) 700

84. I FARE 2@ I (AT 7 T IE 9R T TH
2 (AT 5 I WITZ | O #7747 SRE #iFadw
T T TP (A 19907 B A | A (A
T S
(A) 219%

(B) 1999
(C) 2399
(D) 20%%
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85. Murderer of one’s father is 88. BT (a7 NFFeFTS AT fon Y
(A) Fratricide (m@ﬁ;;
(B) Patricide ®) ;
(C) Homicide (C) GRS S W
(D) Matricide (D) STAE 3 BT
86. fmare spref @@ o fFa A sice | 89. Raman is the better the two boys.
0 A 5w R | Fill in the blank with appropriate words given
18 15 17 19 15 14 belisic:
(A) than
(B) in
549 650 (©) to
(A) 421 D) of \<\
(B) 561 (Z},
(C) 322 \
(D) 221 90 st his mother as soon as he was .
(b il in the blank with the appropriate words
87. CICH Tt 95 W 200 fivew o7 fowt | 5 fam  [N()™ given below:
A 30 & FA (ATF BTA (5 | FSfiA ‘?&Q}K (A) borne
(fff? (é{} (B) bear
16 (C) born
(B) 28533 \Q ~
©) 139 \i& (D) bore
D) 28.5 §
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